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1-5. Events A, B are said to have P{(A) = 0.8, P(B) = 0.4.
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1. 1f P(A M ang B) = 0.3 then P(A U o, B)A o RVe i)+ Ft&) — Pfﬁ’ﬂ B)
a) 0.9 b) 032 ¢) 04 d) 0.37 e) 0.5 9z s R +,4Y—-.3
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2. 1f P(A Mang B) = 0.3 then P8 | i fA):DEF”T Y RANSB/EA) = "§’ﬂ375

a) 09 b) 032 c¢) 04 d 037 e) 0.5 (closest answer)
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3. If P(A (ang B) = 03thenP(Aﬂand BC Pm) P[/]ﬁ&&g/, g 3=.5

a) 09 b) 032 ¢) 04 d) 037
am:xg.'r/’ﬁa A7 ol RVLE

a. IfP(BIifA)=0.4thenP(AﬂandB) PCA) 19(3 ﬁ) 0.8 49=832

a) 09 b) 0.32 c) 0.4 d) 0.37 e) 05
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5. If A, B are independent then P(B ||f 9({ 4 ”ﬁﬁ (g)
a) 0.9 b) 032 ¢) 04 d) 037 e) 05

6-10. Given the following:
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6. P+ |ifoin= 28
2) 06 b) 006 ¢) 02 d) 0.12 e) 07
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7. POIL Mg ﬁu)”l“'r'{:r ﬁuégf?é?/é]?(f’/fc?d)i 2.6 =07

a) 0.6 b) 006 c) 0.2 d) 0.12 e) 07
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8. P(+) = TaFAL Pﬁaéﬁgh.’_l P(t’;"/é 7;./ -+ f?(ﬁ/( 7L) - 0/!-’:1!’
2) 06 b) 006 )02 A 012 €07  ; ,¢ # .& 4 =.2 ol
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9. POIL | j+) = ! peFon oV ’-"ﬁ@_?ﬁii(__ /2

a) 0.6 b) 006 ¢) 0.2 d) 0.12 e) 0.7 F(-{—) - “:"‘E"-—'—-’ é

10. Suppose that: Cost to test is 30.
Cost to drill is 100.
Gross return from drilling for oil, when it is present is 1000.

For the contingency OIL®+ determine the NET return from the policy: < _ _
"test, but only drill if the test is +" oLt -Fo- (004 O

a) -30 b) -130 c¢) -200 d) 870 e) 970 TEST o MY
11-13. A random variable X has the following probability distribution: TESTT

X px) x fix/ x‘;{(xj
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1. PX>1)= , ¥ } 1§=E€ X
a 01 b)yo05 ¢c)04 d) 06 e) 09
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12. EX:j-

a) 25 b) 0.9 ¢) 1.5 d) 0.8 ) 1
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13. Variance X=EX2- (Ex2= L&—[1% = .8
a)1 b) 0.6 c¢) 1.4 d) 2 e) 0.8
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14-16. One play of a lottery has random return Y with:
EY =4,
Variance Y = 9 (so standard deviation = 3).

14. Determine the expected total return from 100 independent plays. [é/.{- - -7&)//0@) :—'/ﬂﬁ{/

a) 400 b) 20 ¢) 0.03 d) 200 e) 300 5/

15. Determine the Variance of the total return from 100 independent plays. d/b@// .

a) 400 b)60 c) 100 d) 2000 e) 900 INEE, f V /”A '%)//00
= = Yoo lw ) =350

16. The probability distribution of the total return from 100 independent plays is approximated by

a bell curve, What are the mean and standard deviation (not variance) of this bell curve? J/——/'
a) (400,400)) b} (400,900) c) (0.04, 20) d) (400,30} e) (400, 60) <7 7 = 450
]

= 30
17. (unrelated to above} Here is a sketch of a bell curve with mean 20 and standard deviation 4.

What is the approximate probability of the interval [20-8, 20+8]? Use the rule of thumb given in

lecture for the probability captured by any bell curve within two standard deviations of its mean.
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a) 046 b) 0.68 ¢) 095 d) 0.75 e) 0.5




